Genetics Review






Name ____________________
Write in complete sentences!  
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Yellow (Y) and green (y) are a purebred plants (homozygous).  Yellow hybrid is a heterozygous.  

1. Draw a Punnett square to show the possible allele combinations if a yellow hybrid plant in the first generation is crossed with a green plant in the second generation. 

2. What are the phenotypes of the original parent plants?

3. Which allele is dominant?  Explain your answer.

4. What two alleles are shown in the cross?
5. All of the plants in the first generation have a genotype of Yy.  What is the genotype of each parent plant? 

6. Draw a Punnett square to represent the cross between two plants in the first generation.   

	
	

	
	


7. Explain the difference between dominant and recessive alleles when it comes to phenotype of offspring. 

8. If the genotype of one parent is SS and the genotype of the other parent is ss, complete a Punnett square to how the probability of offspring having a Ss genotype.

	
	

	
	


9. If the genotype of one parent is Bb and the genotype of the other parent is Bb, complete a Punnett square to how the probability of offspring having a bb genotype.

	
	

	
	


10.  Using the above cartoon, and Punnett Squares, explain how a cross of the first generation plants could yield the results shown in the second generation.  
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